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3.Please compl ete the following balance sheet of ABC company. (25 % )

B/S of ABC company
Asof 12/31/2003

Cash $30,000 | Accounts payable $120,000
Short term security 25,000 | Notes payable
Account receivables Interest 20,000
Inventory Subtotal of current liability
Subtotal of current asset Long-term liability
Fixed asset (net) Tota of liability

Equity $600,000
Total of asset Tota of L&E

Supplementary information are provided for problem solving needs.

total sales=%$1,800,000

profit margin of sales=25%
turn-over rate of inventory=6
total asset turn over=1.2

liability ratio=0.6

current ratio=1.6

average col lection period=40days
1 year=360 days.
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4.Mountain Corp. is a non-leveraged firm with zero-growth. The cost of equity capital
is 15%. EBIT=$250,000, corporate tax rate=35%, tax rate for individual shareholders
averagely 25%. CFO is considering to leverage $1,000,000 with interest at 10%.
Assuming that the tax rate of debt-holder is30%. (25 % )

a. According to the capital structure theory proposed by Modigliani & Miller (MM)
in 1958, what is the firm value of Mountain Corp. under corporate tax benefit?

b. From Question a, what is cost of equity?

c. If considering the income tax shield of individual stack-holders, what the firm
value of Mountain Corp.?



